GOVERNMENT OF THE DISTRICT OF COLUMBIA DEPARTMENT ON DISABILITY SERVICES

PCR Results Web Posting

D 11	G '. 1G I					
Provider	Capital Care Inc					
Organization						
	Paul Atang					
Phone Number	301-949-0466					
Email Address(s)	patang@capitalcareinc.com					
Provider Services Reviewed	Residential Habilitation, Supported Living, In-Home Supports, Day Habilitation, Prevocational Habilitation, Supportive Employment Job Training and Support, Supported Living Periodic, Day Habilitation One-to-One,					
Location(s) Reviewed	2820 HARTFORD STREET SE, WASHINGTON, DC 20020 3118 ELM STREET NE, WASHINGTON, DC 20018 1303 REDDITCH CT, UPPER MARLBORO, MD 20774 1620 Oaklawn Ct,, silver springs, MD 20903 7406 14th, NW, Washington, DC 2401 Blueridge Ave Ste 301, Silver springs, MD 1933 B Montana Ave., NE, washington, DC 20002 3516 COMMODORE JOSHUA BARNEY DRIVE NE#301, WASHINGTON, DC 20018					
# Individuals Reviewed by Service	Residential Habilitation - 2 Supported Living - 4 In-Home Supports - 2 Day Habilitation - 3 Prevocational Habilitation - 3 Supportive Employment Job Training and Support - 1 Supported Living Periodic - 1 Day Habilitation One-to-One - 2					
Annual PCR dates	11/05/2012 - 11/07/2012					
F/U Review	01/02/2013					
Date(s)						
Annual Report Date	11/21/2012					
F/U Report Date	01/15/2013					

The overall results on initial review were:

Service	Person Centered Domains Score	%	Organization Score	%	Rating	Satisfaction Score	%
	# Yes/Total		# Yes/Total			# Yes/Total	
Residential Habilitation	109/111	98%	41/43	95%	Needs Improvement	10/10	100%
All Mandatory Indicators	23/23	100%	12/13	92%			
Supported Living	222/225	99%	41/43	95%	Needs Improvement	40/40	100%
All Mandatory Indicators	44/44	100%	12/13	92%			
In-Home Supports	58/60	97%	41/43	95%	Needs Improvement	10/10	100%
All Mandatory Indicators	15/16	94%	12/13	92%			
Day Habilitation	125/128	98%	41/43	95%	Needs Improvement	30/30	100%
All Mandatory Indicators	33/33	100%	12/13	92%			
Prevocational Habilitation	129/134	96%	41/43	95%	Needs Improvement	30/30	100%
All Mandatory Indicators	30/30	100%	12/13	92%			
Supportive Employment Job Training and Support	49/49	100%	41/43	95%	Needs Improvement	10/10	100%
All Mandatory Indicators	10/10	100%	12/13	92%			
Supported Living Periodic	56/58	97%	41/43	95%	Needs Improvement	10/10	100%
All Mandatory Indicators	11/11	100%	12/13	92%			
Day Habilitation One-to-One	81/83	98%	41/43	95%	Needs Improvement	17/17	100%
All Mandatory Indicators	18/18	100%	12/13	92%			

The overall results on follow up review were:

Service	Person Centered Domains Score	%	Organization Score	%	Rating	Satisfaction Score	%
	# Yes/Total		# Yes/Total			# Yes/Total	
Residential Habilitation	111/111	100%	43/43	100%	Satisfactory	10/10	100%
All Mandatory Indicators	23/23	100%	13/13	100%			
Supported Living	225/225	100%	43/43	100%	Satisfactory	40/40	100%
All Mandatory Indicators	44/44	100%	13/13	100%			
In-Home Supports	60/60	100%	43/43	100%	Satisfactory	10/10	100%
All Mandatory Indicators	16/16	100%	13/13	100%			
Day Habilitation	128/128	100%	43/43	100%	Satisfactory	30/30	100%
All Mandatory Indicators	33/33	100%	13/13	100%			
Prevocational Habilitation	134/134	100%	43/43	100%	Satisfactory	30/30	100%
All Mandatory Indicators	30/30	100%	13/13	100%			
Supportive Employment Job Training and Support	49/49	100%	43/43	100%	Satisfactory	10/10	100%
All Mandatory Indicators	10/10	100%	13/13	100%			
Supported Living Periodic	58/58	100%	43/43	100%	Satisfactory	10/10	100%
All Mandatory Indicators	11/11	100%	13/13	100%			
Day Habilitation One- to-One	83/83	100%	43/43	100%	Satisfactory	17/17	100%
All Mandatory Indicators	18/18	100%	13/13	100%			

Certification issued/dates/services

Waiver Service	Certification Dates	Certification
		Type
Residential Habilitation	11/05/2012 -	Annual
	11/05/2013	
Supported Living	11/05/2012 -	Annual

	11/05/2013	
In-Home Supports	11/05/2012 -	Annual
	11/05/2013	
Day Habilitation	11/05/2012 -	Annual
	11/05/2013	
Prevocational Habilitation	11/05/2012 -	Annual
	11/05/2013	
Supportive Employment Job Training and	11/05/2012 -	Annual
Support	11/05/2013	
Supported Living Periodic	11/05/2012 -	Annual
	11/05/2013	
Day Habilitation One-to-One	11/05/2012 -	Annual
	11/05/2013	